Vertical Circle Prequiz
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Show your work, and circle your answers and use sig figs to receive full credit.

1. A 2.0 kg mass goes 5.0 m/s around a 4.0 m radius vertical circle.  What force is needed in what direction at the top and at the bottom? (7.12 N up at top, 32.12 N up at the bottom)

2. A 3.5 kg mass goes in a 2.0 m radius vertical circle at a constant speed.  At the top, there is a force of 13 N down on the mass.  What is the velocity of the mass, and what is the force needed at the bottom, and in what direction is the force? (5.2 m/s, 81.67 ≈ 82 N up)

3. A 12 kg mass goes at a constant speed in a 3.4 m radius vertical circle.  At the bottom there is a force acting upwards of 275 N.  What is the period of the motion, and what force in what direction is needed at the top? (3.2 s, 39.56 ≈ 40. N down)















